Jcw Aerodynamic Kit Black Band Rocker Panel - Right Located on the bottom section of the rocker panel

ES#: 2530923

Mfg#: 51710445884

1 \$76.49 \$76.49

Jcw Aerodynamic Kit Black Band Rocker Panel - Left Located on the bottom section of the rocker panel

ES#: 2503981

Mfg#: 51710445883

1 \$76.49 \$76.49



Jcw Aero Side Skirt Insert Grille - Left Mounts to the rear of the side skirt

ES#: 127325

Mfg#: 51710413261

1 \$14.36 \$14.36



Jcw Aero Side Skirt Insert Grille - Right Mounts to the rear of the side skirt

ES#: 127326

Mfg#: 51710413262

1 \$14.36 \$14.36 Jcw Aero Side Skirt Panel Primed - Left Mounts to the lower door entrance.

ES#: 2543436

Mfg#: 51777297315

1 \$148.90 \$148.90

Jcw Aero Side Skirt Panel Primed - Right Mounts to the lower door entrance.

ES#: 2498955

Mfg#: 51777297316

1 \$148.90 \$148.90

Adapter For Jcw Side Skirt - Left Trim filler panel located under the side skirt

ES#: 127323

Mfg#: 51710413259

1 \$25.64 \$25.64

Adapter For Jcw Side Skirt - Right Trim filler panel located under the side skirt

ES#: 127324

Mfg#: 51710413260

1 \$26.21 \$26.21 4

Clip - Priced Each

For various extrenal locations on your MINI

ES#: 16410

Mfg#: 07131480419

18 \$1.10 \$19.80



Clip - Priced Each

For connection of the door sill / side skirts

ES#: 16479

Mfg#: 07137073915

4 \$0.99 \$3.96



Securing Clip - Priced Each For the door sill rocker panel

ES#: 127387

Mfg#: 51711496621

8 \$0.99 \$7.92



Expanding Plastic Rivet - Priced Each Used various places to attach exterior trim pieces

ES#: **75193**

Mfg#: 51118174185

8 \$0.99 \$7.92

Plastic Rivet - Priced Each Backing expands while being tightened ES#: 16370

Mfg#: 07130702966

16 \$0.99 \$15.84